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The National Curriculum: The Mastery
Approach

Teaching maths for mastery involves employing approaches
that help all pupils to develop a deep and secure
knowledge and understanding of mathematics at each stage
of their learning, so that by the end of every school year,
pupils will have acquired mastery of the mathematical facts
and concepts they have been exposed to, equipping them to
move on confidently and securely to more advanced
material.



The National Curriculum: The Mastery
Approach

A puplil is secure if he or she can:

v describe it in his or her own words;

v representit in a variety of ways (e.g. using concrete materials, pictures and symbols)
u  explainit to someone else;

v make up his or her own examples (and non examples) of it;

u  seeconnections between it and other facts or ideas;

u  recognise it in new situations and contexts;

v make use of it in various ways, including in new situations.

Greater depthi s characterised by pupilsdé ability

v solve problems of greater complexity
v independently explore and investigate




Planning: How does our planning
support the mastery approach?

v Bl oomds Taxonomy
Basic: Remember and understand
Advancing: Apply and analyse

Deep: Create and evaluate

v What does a basic/advancing/deep activity look like?




A year

Basic

1x4
2 X4
3X4
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Advancing

Elizabeth is trying to crack the code to open this safe and
find out what’s inside.

She has been given the following clues:

"/\\_/ \/—'w/ \V\\j’

The code has four digits
i The last digit is the answer t© 1x4
I‘- The middle two digits addupto4
Il The first digit is double the last digit
|

I‘ Each digit is in the 2% table; one
| of them isn'tin the 4x table
\

T

Work out what the code is and put the answer in the boxes.

exampl eeé

Deep

Create a
similar
problem off
your own.

Recommend
the best

strategy to

solve the
problem..




A year

Basic

100,24~ 0.2=
34,231 - 1,324 =
16,230 - 600 =
1,234,100 - 2,338 =
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Advancing

Choosethe
most efficientt
method to
answer these
calculations..

Explain your
choice.

Dee|:_)
Look at this

puwipsi | 0s
work.
Correct
theinerrorss
and
recommend
better

strategies.
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Advancing

Which of the word problems can be
solved using 12 + 47

There are 12 bags of sweets with 4
sweets in each.
How many altogether?

A rollercoaster carriage holds 4 people.
How many carriages are needed for 12
people?

| have 12 crayons and share them out so
people have 4 crayons each.

How many people did | share them
between?

| have 12 buns and | give 4 to my
brother.

How many do | have left?

Explain your reasoning for each.
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Megan has a box of pop that are in
packs.

Some packs have 4 cans in them and
some packs have 8 cans in them.
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Megan’s box contains 64 cans of pop.

How many packs of 4 cans and how
many packs of 8 cans could there be?

Find all the possibilities.

On a blank hundred square colour

multiples of 8 red and multiples of 4
blue.

Always, sometimes, never.

 Multiples of 4 are also multiples of 8
» Multiples of 8 are also multiples of 4

Bx3=
2X 4% 3=
2X2XK2X 3=

What do you notice?
Why do you think this has happened?



Planning: How does our planning
support the mastery approach?

u CPAApproach

. a3 2+1=03
m
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The CPA Approach at Crabtree
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Manipulatives Bar modelling Varied representations
(Varied) Diagrams Problem solving
Other pictorial RUCSAC strategy

representations



Manipulatives

Numbers
0-10

f B

9 10




Bar Modelling

Sally has 21 fewer sweets than Julia. If Sally has 43 sweets, how
many does Julia have?

Julia Addition
Sally 43 21

Martin has 30 fewer Match Attax cards than John. If John has 200
Match Attax cards, how many cards does Martin have?

John 2 Subtraction
Martin |30




Remember ‘RUCSAC’ when solving word problems!

Readl

Read the question
carefully. What is
the important
information?

Solve |

Solve the problem!
Make sure you
follow all the
steps.

Uu’s{tW

Understand the
question. What do
you have to find
out?

=2/

Answer

Have you
answered the
question? What
were you meant

Choose

Choose the right
operation(s) and
method of
calculation.

to find out?

Clheck
Check your answer
If possible, use the

inverse to check
our working out.

>

Read, Understand, Cheose, $olve, Answer, Cheeckh
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Word problem™

Peter has 3 marbles. Harry gives Peter 1 more marble. How
many marbles does Peter have now?

Concrete=*pictorial

Understand -Choose-Solve

o

3 Marbles

=

1 Marble
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Answer-Check

Peter now has 4 marbles.

~

Answer written as a
full sentence

Check the answer relates
to the original question




Marking

B, A A+ orD




